37473 0 Fo# 100

pixels

0 Fo# 100

35026

pixels

100

33756 0 Fo#

pixels

0 Fo# 100

33187

pixels

100

10623 0 Fo#

pixels

050605a : 6 keV

gamma factor = 0.9

)

CT-value (1/cm)

050605b : 6.5 keV

316.632221

gamma factor = 0.9

J

bin size = 10
*190.328374 / 2000

CT-value (1/cm)

050605¢ : 6.8 keV

306.428682

gamma factor = 0.9

A

bin size = 10
166.964811 / 2000

CT-value (1/cm)

300.536660

050605d : 7.102 keV

gamma factor = 0.9

B

bin size = 10
*1147.143806 / 2000

CT-value (1/cm)

267.801727

050605e : 7.122 keV

gamma factor==1:

U

bin size = 10
*145,944372 / 2000

CT-value (1/cm)

285.321247

12602 0 Fo# 100

pixels

100

Fo#

0

14095

pixels

100

12422 0 Fo#

pixels

100

Fo#

0

12615

pixels

100

Fo#

0

38531

pixels

050605f : 8 keV

gamm: =

bin size = 1Q
103.982481 / 2000

CT-value (1/cm) 233.440670
0506059 : 10 keV
or=0.9
bin size = 10
*54.020838 / 2000
CT-value (1/cm) 143.155221

050605h : 12 keV

gamma factor = 0.9

bin sizei= 10
*31.536582 / 2000

CT-value (1/cm)

050605i : 15 keV

106.435964

gamma factor = 0.9

bin size = 10
*16.439544 / 2000

CT-value (1/cm)

050605j : 20 keV

73.895750

gamma factor = 0.9

bin size = 10
223824 /2000

*

CT-value (1/cm)

45.401734



